## IBERVILLE PARISH

## PLANT ENTERPRISES PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				40,892	cords	
Pulpwood (Total)				40,892		
Saw Timber						
Hardwood				7,069,140	board feet	
Saw Timber (Total)				7,069,140		
Total Pulpwood, Chip & Saw,						\$5,926,959
Saw Timber FOB Mill						
Total Forestry Stumpage						\$2,980,153
(Total)						
Forestry (Total)						\$5,926,959
FEED GRAINS						
Corn (Total)	*	171.0	115.00	19,665	bu.	\$52,112
Grain Sorghum (Total)	*	402.0	90.00	36,180	cwt.	\$169,539
Feed Grains (Total)		573.0				\$221,652
HAY FOR SALE						
Grass (Total)	35	3,600.0	1.50	5,400	tons	\$498,960
Hay for Sale (Total)		3,600.0				\$498,960
Home Gardens (Total)	1,810					\$362,000
PECANS						
Improved (Total)	17	250.0	560.00	140,000	lbs.	\$182,000
Native (Total)	400	510.0	450.00	229,500	lbs.	\$218,025
Pecans (Total)		760.0				\$400,025
Soybeans (Total)	17	7,422.0	44.00	326,568	bu.	\$1,912,382
SUGARCANE						
Raw Sugar (Total)	35	33,176.0	7,600.00	252,137,600	lbs.	\$30,256,512
Molasses (Total)		33,176.0	228.00	7,564,128	gal.	\$1,512,826
Sugarcane (Total)		33,176.0				\$31,769,338
Wheat (Total)	8	3,339.0	65.00	217,035	bu.	\$871,070

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION						
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
AQUACULTURE						
Alligators (Farm) (Total)				604	ft.	\$16,926
Aquaculture (Total)						\$16,926
FRESHWATER FISHERIES						
Crawfish (Wild) (Total)	297			2,028,905	lbs.	\$1,128,477
Freshwater Finfish (Total)	132			733,433	lbs.	\$241,593
Freshwater Fisheries (Total)						\$1,370,070
Alligators (Wild) (Total)				4,110	ft.	\$102,750
HUNTING LEASES						
Waterfowl (Total)	320	100,000	No. Acres		acre	\$1,500,000
			Leased			
All Other Game (Total)	250	70,000	No. Acres		acre	\$490,000
` '			Leased			
Hunting Leases (Total)						\$1,990,000
TOTAL ALL FISHERIES & WI	LDLIFE ENTERPRISES					\$3,479,746

<sup>\*\*</sup> The marine, freshwater and oyster data presented here are for the year 2005 rather than 2006. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL	ENTERPRISES	PRODUCTION

-	AIIII	IAL ENTERI RISES TRODE	CIION		
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
	Troducers	Troduction	Troduction	Wicasure	v aruc
CATTLE & CALVES					
Steer Calves					
300-400 lbs.			380	head	\$188,900
400-500 lbs.			710	head	\$396,020
500-600 lbs.			1,370	head	\$838,721
600-700 lbs.			1,130	head	\$776,734
Steer Calves (Total)					\$2,200,375
Heifer Calves					
300-400 lbs.			410	head	\$180,997

IBERVILLE PARISH

## IBERVILLE PARISH

## ANIMAL ENTERPRISES PRODUCTION

	Number of	Units of		Total	Units of	Gross Farm
Animal	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
400-500 lbs.				680	head	\$354,807
500-600 lbs.				1,320	head	\$763,099
600-700 lbs.				1,240	head	\$825,989
Heifer Calves (Total)						\$2,124,891
Yearling Cattle						
600-700 lbs.				340	head	\$220,890
700-800 lbs.				220	head	\$156,668
Yearling Cattle (Total)						\$377,557
Cow-Calf Pairs (Total)				390	pair	\$370,582
Cull Cows (Total)					head	\$287,470
Cull Bulls (Total)				42	head	\$35,513
Cattle & Calves (Total)	32	8,100	No. Cows			\$5,396,388
HORSES						
Brood Mares						
Race Horses	8	35	No. Brood Mares	19	head	\$152,000
Show Horses	65	170	No. Brood Mares	110	head	\$440,000
Recreation Horses	300	1,700	No. Brood Mares	1,020	head	\$1,530,000
Brood Mares (Total)						\$2,122,000
Stud Fees						
Race Horses		5	No. Stallions	20	mares bred	\$50,000
Show Horses		30	No. Stallions	70	mares bred	\$105,000
Recreation Horses		25	No. Stallions	30	mares bred	\$15,000
Stud Fees (Total)						\$170,000
Race Horses (Total)	7			27	head	\$324,000
Show Horses (Total)	1,554			150	head	\$750,000
Recreation Horses (Total)	420			1,100	head	\$1,650,000
Horses (Total)				•		\$5,016,000
SHEEP						
Wool (Total)		40	No. Sheared	240	cwt.	\$60

SHEEP				
Slaughter Lambs (Total)			25 head	\$3,906
Feeder Lambs (Total)			5 head	\$1,125
Show Lambs (Total)			0 head	\$3,000
Stocker Sheep (Total)		:	5 head	\$2,625
Cull Sheep (Total)			5 head	\$750
Sheep (Total)	12	40 No.Breeding		\$11,466
		Ewes		
GOATS				
Show Goats (Total)		2	25 head	\$6,250
Slaughter Goats (Total)		:	55 head	\$6,875
Stocker Goats (Total)			l6 head	\$4,370
Cull Goats (Total)			25 head	\$1,625
Goats (Total)	8	80 No. Does		\$19,120
SWINE				
Show Pigs (Total)			5 head	\$4,200
Feeder Pigs (Total)		8	80 head	\$2,400
Slaughter Hogs (Total)		10	00 head	\$12,022
Culls (Total)			20 head	\$3,200
Swine (Total)	6	25 No. Sows		\$21,822
TOTAL ALL ANIMAL ENTERPRISES				\$10,464,796

**IBERVILLE PARISH** \$55,906,928 143